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ÍÛæ̃ Û¶ÛÛ :  (1) ›÷¾Û¨Ûà ¼ÛÛ›ä÷¶ÛÛ …×ïõ ›÷é ©Ûé ¸ÛóÊ¶Û¶ÛÛ •Ûä¨Û þùÉÛÛÙÈÛé ™öé.  

  (2) ÍÛÛþùÛ ïéõÅÛîýÛäÅÛé¤øÁõ¶ÛÛé Š¸ÛýÛÛé•Û ïõÁõà ÉÛïõÛÉÛé.  
 

1. (a) ÜÈÛµÛéýÛ¶Ûà ¾ÛÐü«Û¾Û …¶Ûé ¶ýÛæ¶Û©Û¾Û Ýïõ¾Û©ÛÛé¶ÛÛé …¬ÛÙ ÍÛ¾Û›ÛÈÛÛé …¶Ûé ©Ûé¶ÛÛ ¾ÛÛ¤éø¶Ûà ÉÛÁõ©ÛÛé ›÷¨ÛÛÈÛÛé.  4 

               …¬ÛÈÛÛ  

  ¶Ûà˜Ûé¶ÛÛ ¸ÛþùÛé ÍÛ¾Û›ÛÈÛÛé : 

  (i) Ü³ù©ÛàýÛ ÜÈÛïõÅÛ¶Û  

  (ii) ïäõÅÛ …Û¾ÛþùÛ¶Ûà 

  (iii) ÍÛà¾ÛÛ×©Û ”Û˜ÛÙ  

  (iv) ¾ÛÛ×•Û¶Ûà ¾ÛæÅýÛÍÛÛ¸Ûé“Û©ÛÛ 

 (b) ›Ûé y = 3.e4x + 2.e–4x ÐüÛéýÛ ©ÛÛé ÍÛÛÜ¼Û©Û ïõÁõÛé ïéõ 
d2y
dx2 = 16y. 4 

…¬ÛÈÛÛ  

  …éïõ ÈÛÍ©Ûä¶Ûà ¾ÛÛ×•Û¶ÛÛé Ü¶ÛýÛ¾Û x = 12 + 3p – p2 ™öé. šýÛÛÁéõ ÈÛÍ©Ûä¶Ûà Ýïõ¾Û©Û 2 …éïõ¾Û ÐüÛéýÛ ©ýÛÛÁéõ 
¾ÛÛ×•Û¶Ûà ¾ÛæÅýÛÍÛÛ¸Ûé“Û©ÛÛ ÉÛÛéµÛÛé …¶Ûé ©Ûé¶ÛÛé …¬ÛÙ ›÷¨ÛÛÈÛÛé.  

 (c) ÜÈÛµÛéýÛ f(x) = 2x3 + 3x2 – 36x + 30¶Ûà ¾ÛÐü«Û¾Û …¶Ûé ¶ýÛæ¶Û©Û¾Û Ýïõ¾Û©ÛÛé ¾ÛéÇÈÛÛé. 6 

…¬ÛÈÛÛ  

  …éïõ ˆ›ÛÁõþùÛÁõ¶Ûä× ¾ÛÛ×•Û¶Ûä× ÜÈÛµÛéýÛ x = 50 – 5p …¶Ûé ïäõÅÛ ”Û˜ÛÙ ÜÈÛµÛéýÛ C = 
x2

20 + 10 ™öé. ¾ÛÐü«Û¾Û 

¶ÛºõÛé ¾ÛéÇÈÛÈÛÛ ïéõ¤øÅÛä× Š©¸ÛÛþù¶Û ïõÁõÈÛä× ¸Û¦øÉÛé ? ¾ÛÐü«Û¾Û ¶ÛºõÛé ¸Û¨Û ÉÛÛéµÛÛé.  

 

2. (a) ÍÛ×ïõÅÛ¶Û¶Ûà ÈýÛÛ”ýÛÛ …Û¸ÛÛé …¶Ûé ©Ûé¶Ûà ¾Ûþùþù¬Ûà ïäõÅÛ ”Û˜ÛÙ ÜÈÛµÛéýÛ …¶Ûé ïäõÅÛ …Û¾ÛþùÛ¶Ûà ÜÈÛµÛéýÛ ïéõÈÛà 
Áõà©Ûé ¾ÛéÇÈÛÛýÛ ™öé ©Ûé ›÷¨ÛÛÈÛÛé.  4 

…¬ÛÈÛÛ  

  Ü¶ÛýÛ©Û ÍÛ×ïõÅÛ¶Û …é¤øÅÛé ÉÛä× ? ©Ûé¶ÛÛ ïõÛéˆ¸Û¨Û ˜ÛÛÁõ •Ûä¨ÛµÛ¾ÛÛë ›÷¨ÛÛÈÛÛé.  
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 (b) ›Ûé ÍÛà¾ÛÛ×©Û ”Û˜ÛÙ ÜÈÛµÛéýÛ (MC) = 75 + 50x + 5x2 ÐüÛéýÛ …¶Ûé ÜÍ¬ÛÁõ”Û˜ÛÙ ` 150 ÐüÛéýÛ ©ÛÛé ïäõÅÛ 
”Û˜ÛÙ ÜÈÛµÛéýÛ …¶Ûé ÍÛÁéõÁõÛÉÛ ”Û˜ÛÙ ÜÈÛµÛéýÛ ¾ÛéÇÈÛÛé. 4 

…¬ÛÈÛÛ  

  ⌡⎮
⌠

0

6
.
. 

x
6 – x + x

 dx ¶Ûà Ýïõ¾Û©Û ÉÛÛéµÛÛé.  

 (c) ¶Ûà˜Ûé¶ÛÛ ÜÈÛµÛéýÛÛé¶ÛÛ ÍÛ×ïõÅÛ¶Û ¾ÛéÇÈÛÛé : 6 

  (i) ⌡⎮
⌠.

.(3x – 5) (2x2 + 3)dx 

  (ii) ⌡⎮
⌠.

.
2x

2x – 3 dx 

               …¬ÛÈÛÛ  
  ¶Ûà˜Ûé¶ÛÛ¶Ûà Ýïõ¾Û©Û ¾ÛéÇÈÛÛé : 

  (i) ⌡⎮
⌠

1

4
.
. (3x2 – x + 5)dx 

  (ii) ⌡⎮
⌠

0

1
.
.x.(1 – x)7dx 

 
3. (a) ÍÛäÁéõ”ÛÛ¶ÛÛé §øÛÇ …é¤øÅÛé ÉÛä× ? ¼Ûé ÍÛäÁéõ”ÛÛ…Ûé (i) ÍÛ¾ÛÛ×©ÛÁõ ¬ÛÈÛÛ …¶Ûé (ii) ¸ÛÁõÍ¸ÛÁõ ÅÛ×¼Û ÐüÛéÈÛÛ ¾ÛÛ¤éø¶Ûà 

ÉÛÁõ©ÛÛé ›÷¨ÛÛÈÛÛé.  4 
…¬ÛÈÛÛ  

  ¼Ûé Ý¼Ûþäù…Ûé (x1, y1) …¶Ûé (x2, y2) ¾ÛÛ×¬Ûà ¸ÛÍÛÛÁõ ¬Û©Ûà ÍÛäÁéõ”ÛÛ¶Ûä× ÍÛ¾ÛàïõÁõ¨Û ¾ÛéÇÈÛÛé.  

 (b) ÍÛäÁéõ”ÛÛ…Ûé 2x – y – 13 = 0 …¶Ûé x – 2y – 11 = 0¶ÛÛ ™öéþù¶ÛÝ¼Ûþäù¾ÛÛ×¬Ûà ¸ÛÍÛÛÁõ ¬Û©Ûà …¶Ûé – 
2
5  

§øÛÇÈÛÛÇà ÍÛäÁéõ”ÛÛ¶Ûä× ÍÛ¾ÛàïõÁõ¨Û ¾ÛéÇÈÛÛé. 4 
…¬ÛÈÛÛ  

  …éïõ ÍÛäÁéõ”ÛÛ Ý¼Ûþäù (3, 7) ¾ÛÛ×¬Ûà ¸ÛÍÛÛÁõ ¬ÛÛýÛ ™öé …¶Ûé ¼Û×¶Ûé …“ÛÛé Š¸ÛÁõ ÍÛÁõ”ÛÛ ¾ÛÛ¸Û¶ÛÛ ¸ÛÁ×õ©Ûä 
ÜÈÛÂú±ù Ü˜ÛÏ¶Û¶ÛÛ …×©Û:”Û×¦øÛé ïõÛ¸Ûé ™öé. ©ÛÛé ©Ûé¶Ûä× ÍÛ¾ÛàïõÁõ¨Û ¾ÛéÇÈÛÛé.  

 (c) …éïõ ÐüÛéÍ¤éøÅÛ¶ÛÛé ïäõÅÛ ”Û˜ÛÙ y …×ÉÛ©Û: …˜ÛÅÛ ™öé …¶Ûé …×ÉÛ©Û: ÜÈÛ²Û¬Ûâ…Ûé¶Ûà ÍÛ×”ýÛÛ x Š¸ÛÁõ …ÛµÛÛÁõ 
ÁõÛ”Ûé ™öé. šýÛÛÁéõ ÜÈÛ²Û¬Ûâ…Ûé¶Ûà ÍÛ×”ýÛÛ 70 ÐüÛéýÛ ©ýÛÛÁéõ ”Û˜ÛÙ ` 9,900 ¬ÛÛýÛ ™öé …¶Ûé šýÛÛÁéõ 
ÜÈÛ²Û¬Ûâ…Ûé¶Ûà ÍÛ×”ýÛÛ 100 ÐüÛéýÛ ©ýÛÛÁéõ ”Û˜ÛÙ ` 13,500 ¬ÛÛýÛ ™öé. 6 

  ©ÛÛé (i) y …¶Ûé x ÈÛ˜˜Ûé¶ÛÛé ÍÛäÁéõ”Û ÍÛ×¼Û×µÛ ¾ÛéÇÈÛÛé.  
    (ii) ÐüÛéÍ¤éøÅÛ¶ÛÛé …˜ÛÅÛ ”Û˜ÛÙ ÉÛÛéµÛÛé.  
    (iii) ›Ûé ÐüÛéÍ¤éøÅÛ¾ÛÛ× 50 ÜÈÛ²Û¬Ûâ…Ûé ÐüÛéýÛ ©ÛÛé ”Û˜ÛÙ ïéõ¤øÅÛÛé ¬ÛÉÛé ? 

…¬ÛÈÛÛ 
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  (i) ¼Ûé Ý¼Ûþäù…Ûé (–3, 5) …¶Ûé (7, –9) ¶Ûé ›Ûé¦ø©Ûà ÍÛäÁéõ”ÛÛ¶ÛÛé §øÛÇ …¶Ûé ¼Û×¶Ûé …“ÛÛé ¸ÛÁõ¶ÛÛ 
…×©Û:”Û×¦øÛé ¾ÛéÇÈÛÛé.  

  (ii) ›Ûé (k, 11) …¶Ûé (1, k + 4) ¾ÛÛ×¬Ûà ¸ÛÍÛÛÁõ ¬Û©Ûà ÍÛäÁéõ”ÛÛ ©Ûé¾Û›÷ (0, –2) …¶Ûé (k, 4)¾ÛÛ×¬Ûà 
¸ÛÍÛÛÁõ ¬Û©Ûà ÍÛäÁéõ”ÛÛ ÍÛ¾ÛÛ×©ÛÁõ ÐüÛéýÛ ©ÛÛé k ¶Ûà Ýïõ¾Û©Û ÉÛÛéµÛÛé.  

 

4. (a) ÍÛ¾ÛÛ×©ÛÁõ ËÛé¨Ûà¶Ûà ÈýÛÛ”ýÛÛ ŠþùÛÐüÁõ¨Û ÍÛÜÐü©Û ›÷¨ÛÛÈÛÛé. ©Ûé¾Û›÷ ©Ûé¶Ûä× n¾Ûä× ¸Ûþù …¶Ûé ¸Ûó¬Û¾Û n ¸ÛþùÛé¶ÛÛé 
ÍÛÁõÈÛÛÇÛé ÉÛÛéµÛÈÛÛ¶ÛÛ ÍÛæªÛÛé ÅÛ”ÛÛé. 4 

…¬ÛÈÛÛ 

  ÍÛ¾ÛÛ×©ÛÁõ ¾ÛµýÛïõ …¶Ûé •Ûä¨ÛÛé«ÛÁõ ¾ÛµýÛïõ¶Ûà ÈýÛÛ”ýÛÛ …Û¸ÛÛé …¶Ûé ©Ûé¾Û¶ÛÛ× ÍÛæªÛÛé ›÷¨ÛÛÈÛÛé.  

 (b) 100 …¶Ûé 400¶Ûà ÈÛ˜˜Ûé …ÛÈÛéÅÛà 11 ÈÛ¦éø Ü¶Û:ÉÛéÌÛ ½ÛÛ•Ûà ÉÛïõÛýÛ ©ÛéÈÛà ÍÛ×”ýÛÛ…Ûé¶ÛÛé ÍÛÁõÈÛÛÇÛé 
ÉÛÛéµÛÛé.    4 

…¬ÛÈÛÛ 

  •Ûä¨ÛÛé«ÛÁõ ËÛé¨Ûà¾ÛÛ× …ÛÈÛéÅÛà ¸ÛÛ×˜Û ÍÛ×”ýÛÛ…Ûé ÉÛÛéµÛÛé ïéõ ›÷é¾Û¶ÛÛé •Ûä¨ÛÛïõÛÁõ 243 ÐüÛéýÛ …¶Ûé ™öéÅÅÛà ¼Ûé 
ÍÛ×”ýÛÛ…Ûé¶ÛÛé •Ûä¨ÛÛïõÛÁõ 72 ÐüÛéýÛ.  

 (c) (i) ËÛé¨Ûà 21, 25, 29, 33, …..¶Ûä× 21¾Ûä× ¸Ûþù …¶Ûé ¸Ûó¬Û¾Û 21 ¸ÛþùÛé¶ÛÛé ÍÛÁõÈÛÛÇÛé ÉÛÛéµÛÛé.  6 

  (ii) ËÛé¨Ûà 5, 10, 20, 40, …..¶Ûä× 10¾Ûä× ¸Ûþù …¶Ûé ¸Ûó¬Û¾Û 10 ¸ÛþùÛé¶ÛÛé ÍÛÁõÈÛÛÇÛé ÉÛÛéµÛÛé. 

…¬ÛÈÛÛ 

  (i) ¼Ûé µÛ¶Û ÍÛ×”ýÛÛ…Ûé¶ÛÛé ÍÛ¾ÛÛ×©ÛÁõ ¾ÛµýÛïõ …¶Ûé •Ûä¨ÛÛé«ÛÁõ ¾ÛµýÛïõ …¶Ûä’õ¾Ûé 25 …¶Ûé 7 ™öé, ©ÛÛé ©Ûé 
ÍÛ×”ýÛÛ…Ûé ÉÛÛéµÛÛé.  

  (ii) …éïõ ÍÛ¾ÛÛ×©ÛÁõ ËÛé¨Ûà¶Ûä× 26¾Ûä× ¸Ûþù 153 ™öé. ©ÛÛé ©Ûé¶ÛÛ ¸Ûó¬Û¾Û 51 ¸ÛþùÛé¶ÛÛé ÍÛÁõÈÛÛÇÛé ÉÛÛéµÛÛé.  

 

5. (a) ¶Ûà˜Ûé¶ÛÛ ¸ÛóÊ¶ÛÛé¶ÛÛ ¤æ×øïõ¾ÛÛ× ›÷ÈÛÛ¼Û …Û¸ÛÛé : 8 

  (1) ˆ›ÛÁõÛé …é¤øÅÛé ÉÛä× ? 

  (2) ¾ÛÛ×•Û¶ÛÛé Ü¶ÛýÛ¾Û ›÷¨ÛÛÈÛÛé. 

  (3) ⌡⎮
⌠.

.e
4x+5.dx ¶Ûà Ýïõ¾Û©Û ÉÛÛéµÛÛé.  

  (4) ⌡⎮
⌠

2

5
.
. 7.dx ¶Ûà Ýïõ¾Û©Û ÉÛÛéµÛÛé. 

  (5) ÍÛäÁéõ”ÛÛ 5x + 2y = 0 ¶ÛÛ y …“Û ¸ÛÁõ¶ÛÛ …×©Û:”Û×¦ø¶Ûà Ýïõ¾Û©Û ›÷¨ÛÛÈÛÛé.  
  (6) Ý¼Ûþäù (3, 2) ÍÛäÁéõ”ÛÛ 2x + 3y = 12 Š¸ÛÁõ …ÛÈÛéÅÛä× ™öé ? 
  (7) •Ûä¨ÛÛé«ÛÁõ ËÛé¨Ûà¶Ûà ÈýÛÛ”ýÛÛ …Û¸ÛÛé.  
  (8) ËÛé¨Ûà 21, 19, 17, …. ¶Ûä× 11¾Ûä× ¸Ûþù ÉÛÛéµÛÛé.  
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 (b) ¶Ûà˜Ûé¶ÛÛ¾ÛÛ×¬Ûà ýÛÛé•ýÛ ÜÈÛïõÅ¸Û ¸ÛÍÛ×þù ïõÁõà ›÷ÈÛÛ¼Û …Û¸ÛÛé : 6 

  (1) ÍÛà¾ÛÛ×©Û …Û¾ÛþùÛ¶Ûà, ÍÛÁéõÁõÛÉÛ …Û¾ÛþùÛ¶Ûà …¶Ûé ¾ÛÛ×•Û¶Ûà ¾ÛæÅýÛÍÛÛ¸Ûé“Û©ÛÛ ÈÛ˜˜Ûé¶ÛÛé ÍÛ×¼Û×µÛ 
_______ ™öé. 

   (a) η = 
AR – MR

AR   (b) η = 
MR – AR

MR   

   (c) η = 
AR 

AR – MR  (d) η = 
MR

MR – AR  

  (2) ›Ûé y = log x3 ÐüÛéýÛ ©ÛÛé 
d2y
dx2 = _________ ¬ÛÛýÛ. 

   (a) 
3
x  (b) – 

3
x2  

   (c) 
3
x2  (d) 6x 

  (3) ⌡⎮
⌠

3

3
.
. x . dx = _______ ¬ÛÛýÛ. 

   (a) 3 (b) 6 

   (c) 0 (d) 9 

  (4) Š•Û¾ÛÝ¼Ûþäù¬Ûà  4 …éïõ¾Û¶ÛÛ …×©ÛÁéõ y …“Û¶Ûé ÍÛ¾ÛÛ×©ÛÁõ Áéõ”ÛÛ¶Ûä× ÍÛ¾ÛàïõÁõ¨Û ________ ¬ÛÛýÛ. 

   (a) x = 4 (b) y = 4 

   (c) x + y = 4 (d) x – y = 4 

  (5) ÍÛäÁéõ”ÛÛ 5x + 3y – 7 = 0 ¶ÛÛé §øÛÇ _________ ¬ÛÛýÛ. 

   (a) 
7
3  (b) – 

7
3  

   (c) 
5
3  (d) – 

5
3  

  (6) ËÛé¨Ûà 3, 6, 12, ….. ¶Ûä× ™ödä×̧ Ûþù ________ ¬ÛÛýÛ. 

   (a) 24 (b) 96 

   (c) 48 (d) 192 
______________ 
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Instructions :  (1) Figures to the right side indicate marks of that question. 

   (2) Use of simple calculator is allowed. 

 

1. (a) Explain the meaning of maximum and minimum values of a function and state the 
conditions for that.  4 

OR 
  Explain the following terms : 

  (i) Second Order Derivative 

  (ii) Total Revenue 

  (iii) Marginal Cost 

  (iv) Elasticity of Demand 

 (b) If y = 3.e4x + 2.e–4x, then prove that  
d2y
dx2 = 16y. 4 

OR 

  The demand law of a commodity is x = 12 + 3p – p2. Find the elasticity of demand 
when price per item is 2 units and state its meaning. 

 (c) Obtain the maximum and minimum values of the function f(x) = 2x3 + 3x2 – 36x + 30. 6 

OR 
  The demand function of a monopolist is x = 50 – 5p and total cost function is           

C = 
x2

20 + 10. How many units should be produced to get maximum profit ? Also 

find maximum profit. 

 

2. (a) Give the definition of Integration and state how the total cost function and total 
revenue function is obtained with the help of it. 4 

OR 
  What is Definite Integration ? State any four properties of it. 
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 (b) If the marginal cost function (MC) = 75 + 50x + 5x2 and fixed cost is ` 150, then  
find the total cost function and average cost function. 4 

OR 

  Find the value of  ⌡⎮
⌠

0

6
.
. 

x
6 – x + x

 dx. 

 (c) Integrate the following functions : 6 

  (i) ⌡⎮
⌠.

.(3x – 5) (2x2 + 3)dx 

  (ii) ⌡⎮
⌠.

.
2x

2x – 3 dx 

               OR 
  Evaluate the following : 

  (i) ⌡⎮
⌠

1

4
.
. (3x2 – x + 5)dx 

  (ii) ⌡⎮
⌠

0

1
.
.x.(1 – x)7dx 

 
3. (a) What is slope of a straight line ? State the conditions for two straight lines to be           

(i) parallel and (ii) perpendicular to each other. 4 
OR 

  Obtain the equation of a straight line passing through two points (x1, y1) and         
(x2, y2). 

 (b) Obtain the equation of a line with slope – 
2
5  and passing through the point of 

intersection of the lines 2x – y – 13 = 0 and x – 2y – 11 = 0. 4 
OR 

  A line passes through the point (3, 7) and it makes intercepts on both axes equal in 
magnitude but opposite in signs. Then obtain its equation. 

 (c) The total expenditure y of a hostel is partly constant and partly varies as the 
number of students x. When there are 70 students, the expenditure is ` 9,900 and 
when there are 100 students, the expenditure is ` 13,500. 6 

  Find : (i) the linear relationship between x and y. 
     (ii) the constant expenditure of the hostel. 
     (iii) the expenditure of the hostel, when there are 50 students. 

OR 
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  (i) Obtain the slope and the intercepts on both axes of the line joining two points 
(–3, 5) and (7, –9). 

  (ii) If the line joining (k, 11) and (1, k + 4) is parallel to the line joining (0, –2) 
and (k, 4), then find the value of k. 

 

4. (a) State the definition of arithmetic progression with illustration. Also write the 
formula to find its nth term and sum of its first n terms. 4 

OR 

  Define the Arithmetic Mean and the Geometric Mean and state their formulae. 

 (b) Find the sum of numbers between 100 and 400 exactly divisible by 11. 4 

OR 

  Find five numbers in geometric progression whose product is 243 and the product 
of the last two numbers is 72. 

 (c) (i) Find the 21st term and the sum of first 21 terms of the series 21, 25, 29, 33, 
…..   6 

  (ii) Find the 10th term and the sum of first 10 terms of the series 5, 10, 20, 40, ….. 

OR 

  (i) The Arithmetic mean and the Geometric mean of two positive numbers are           
25 and 7 respectively, then find these numbers. 

  (ii) The 26th term of an arithmetic progression is 153, then find the sum of its first 
51 terms. 

 

5. (a) Answer the following questions in short : 8 

  (1) What is monopoly ? 

  (2) State the demand law. 

  (3) Find the value of  ⌡⎮
⌠.

.e
4x+5.dx 

  (4) Find the value of  ⌡⎮
⌠

2

5
.
. 7.dx 

  (5) State the value of intercept on y axis of the line 5x + 2y = 0. 

  (6) Is a point (3, 2) is on the line 2x + 3y = 12 ? 

  (7) Give the definition of Geometric progression. 

  (8) Find the 11th term of the series 21, 19, 17, …. 
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 (b) Answer the following by selecting an appropriate alternative : 6 

  (1) The relationship between marginal revenue, average revenue and elasticity of 
demand is _______. 

   (a) η = 
AR – MR

AR   (b) η = 
MR – AR

MR   

   (c) η = 
AR 

AR – MR  (d) η = 
MR

MR – AR  

  (2) If y = log x3, then 
d2y
dx2 = _________. 

   (a) 
3
x  (b) – 

3
x2  

   (c) 
3
x2  (d) 6x 

  (3) ⌡⎮
⌠

3

3
.
. x . dx = _______. 

   (a) 3 (b) 6 

   (c) 0 (d) 9 

  (4) The equation of a line parallel to y axis at a distance of 4 units from origin is 
________. 

   (a) x = 4 (b) y = 4 

   (c) x + y = 4 (d) x – y = 4 

  (5) The slope of the line 5x + 3y – 7 = 0 is _________. 

   (a) 
7
3  (b) – 

7
3  

   (c) 
5
3  (d) – 

5
3  

  (6) The sixth term of the series 3, 6, 12, ….. is ________. 

   (a) 24 (b) 96 

   (c) 48 (d) 192 
______________ 
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